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No. of Questions/y?l P ww : 100
No. of Pages for Questions/T¥il @& T I Fwr : 23

Time :2% Hours | [ Full Marks : 300
m:z% g | [ gorf@ : 300
Note : (1) This question booklet contains 100 (hundred) questions in all

{2)

(30 in Section — A and 70 in Section - B). Attempt as many questions as
you can. Each question carries 3 marks. One mark will be deducted for each
incorrect answer. Zeyo mark will be awarded for each unattempted

question.

9 weA-gRae ¥ w5 100 @) W € (@ve — W H 30 9 @UE - § F 70)|
AFD Uel B FF B B YIS B | TP WE 3 3w B B ) FIF 7T
STV @ [y §@ 3@ FIeT T | TRw SRS WO o wIaiw I 8N |

If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

afe e defeas Sur wd) SR @ Fyee yda 8 oY Frecar 98 SR 2|

P.7.0.
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1.

SECTION - A
vs — ¥

All the following are acceptable goals for dealing with behaviour problems in
the classroom, except :

(1) helping the child to improve his/her self-control

(2) punishing, when necessary, in private

(3) understanding the offense

(4) utilizing appeals to children that have personal implications

HEITA HARTRS TARIH B gors ® = sewd €, R

(1) BT & U 3NA-FAGHOT BT GUIRA § HEGIT <A1

(2) sel ¥ W9 gvEd B A1 | oA

(3) STURTI B AHHAT

(4) B9 yrfAmel w1 ITART HRAT @ BrE % ol sy &

A parent of a student refuses to give permission for her child to go on an
educational excursion. The teacher should first :

(1) refer the matter to the Principal

(2) confer with the parent to discuss the educational purpose of the trip

(3) give the class a homework assignment for all parents to sign, giving
reasons why each child wants to go on the trip

(4) ask another teacher in the same class to take that child on the day of the

trip

TP B DT ANMES AT o B DeI0F wHr 9k WR W A B <Al 2 | SIS
@) WY 98 ¢

(1) 39 Rwg o gorrart & 9RT AW < AR
Q) Ifnas 3 AR 9 3 el sivd W fRER e e ey

(3) ¥RAS BIEH ¥ W R T aEa | 59 Qvy ® @ FEr @ 0@ R s R
ST =12 T O WX AOTEaE BT SRR B B AM B oy HEl

(4) S Be B R Sy SEATTH B B B W R & G B Y P iz

(2)
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3. To become a good teacher, which one of the following may sot be treated as
very much essential ?

(1) Knowiedge of ICT

(2) Knowledge of Subject

(3) Knowledge of Planning

(4) Knowledge of individual difference

TF IO FEAF 9 o oy i § & foae) snawasar 9gg W 987 ® ?
(1) o & A 71 I

(2) fawg &1 9

(3) e w4

(4) ufds Far &1 s

4. The most appropriate behaviour of a teacher with an overactive child should
be :
{1) Give the child extra written work so he/she will have a reason for
remaining in his/her seat
(2) Allow the child to leave his/her seat whenever he/she becomes restless

(3) Provide the child with purposeful activities that legitimize the need for
movement

(4) Isolate the child from the class
UE IR de B O IRAIE @1 WY I9gd FIEN B AR
{1) ﬁ?ﬁa@mﬂﬁmﬁﬁﬁm%wm&mmﬁ?ﬁmw

(2) ¥ B AU AT 99 97 R A O BIs | i i 7 =i
(3) mﬂg@wmwwm%wmﬁmm
il

(4) 9= BT HET W T AT AR

5. Subhas tells his teacher that three other boys, who the teacher knows are
Subhas's friends, copy from each other on all the tests. Of the following the
teacher is best advised to first :

(1) give the three boys a zero on the last two tests
(2) confer with Subhas's father

(3} try to understand why Subhas said this

(4) ignore the remark -

(3) P.T.O.
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FATS A9 sreae W Rreran wvar 3 B B omr ol R sramus werar & £
Yy @ B A Wan F vF T A Awa B ¥ 3w Ry § B Y R
|IH YE TN T FI GIT AT FY A oifRd ?

(1) 9= g 1 YU e 3 Al

(2) g % iy i | sdn &= 9

(3) T8 TN BT UEI FRAI Uy YA 3§ I 7 FE
(4) YT B T HEN @Ry

6. Most important quality of a teacher is:

(1) Honesty (2) Diligent (3} Dutiful {4) Punctual
& IS HT FgH ATETYY 0T ¥ :
() T (2) aRsph (3) T ) Frafiern

7.  When the students failed, it can be regarded as:
(1} The system failure (2) The teacher’s failure
(3) The text-book's failure (4) The individual student's failure
OE @ SFFNTT B W, US AT S wH } fF
(1) waRen srpdet & T (2) Fegrges sl & T
(3) g&& el 3 R (4) B FIEr &

8. If you are unable to get admission in B. Ed., then you will :
(1) start giving tuition at home (2) remain at home till you get a job
(3) take some another job (4} continue applying for admission
g At Ho TS0 F waw 7 oW ¥, A WY T FRAT AR ?
(1) R W TG T (2) A8 g T W W e
(3) o T I T (4) YA B Ay TR SR

9. Open schooling programme is basically related with which one of the
following ?

(1) Off campus educational programme
(2) Formal educational programine
(3) Vocational education based programme

{(4) Functional literacy programme

(4)
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11.

12.
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oo fenedia ardwd oy | e A @ s o wefa @ 7

(1) ¥ oy MM wriwa

(2) MgRe Afes Frdms

(3) e e SRy HRimH

(4) =BG WRIRGT HRiHA

Through teachers education programme, basically one can learn skills related
with :

(1) School (2) Learning

(3) Interactive Behaviour (4) Classroom Behaviour of teachers

mﬁmmﬁqﬁwﬁaﬁéaﬁﬁmmm?mwﬁmﬁ

(1) ferem 9 (2) dra=

(3) JAfEare TR A (4) feTes He TE WIER A
Psychologist : Neurosis : : ... oo .

(1) Ophthalmologist : Cataract (2) Dermatologist : Fracture
(3) Infant: Pediatrician (4) Rash : Orthopedist
FAXTND ¢ FGROT © ¢ ceerssnsirn R, |

(1) = Rifres : M= (2) @ fAems : afRRer W
(3) frg : Ry v s (4) voar : IR fAews
Sherlock Holmes : Sir Arthur Conan Doyle : : Robinson Crusoe : .....cc.ccovcnnann. :
(1) H.G. Wells (2) Shakespeare

(3) Daniel Defoe (4) Charles Dickens

(1) T=o o JeH (2) IR

(3) e femr (4) uredt ¥

Darkness is to Africa as Sunrise isto:

(1) Japan (2) Dawn (3) East (4) Srinagar

U IER T @ R ¥ N & e B

(1) s B g (2) AR i (3) T® & fog (4) AR & farg

(8) P.T.O.
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14.

15.

16.

17.

18.

19.

49:125::7:1

7 (2) 3 (3) 25 4) 9
Drum is to beat as Piano is to :

(1) Play (2) Sing

(3) Strike (4) Kick

¥4 dcd 3 forr &

(1) o9 & fod 2 @@ M

(3) e @ for ® (4) IR B fox &

Rahul put his timepiece on the table in such a way that at 6 P. M. hour hand

‘points to North. In which direction the minute hand will point at 9.15 P. M. ?

(1} South-East (2) South (3) North (4) West

EA AT TS BT A W ¥ JHR W @A 2 & AW 6 g9 H5 Al g I
forem A w81 9.15 s 3 ¥ e Il g3 e fawm 9 sk gl ?

(1) =férrgee (2) =& (3) S| (4) uf¥=m

In this series of numbers, write the next one :

Rt ¢ Wem o el 7 srrell wen fafn

8,14,10,20,26,22 ..........

(1) 28 (2) 18 (3) 44 (4) 42

Age of A is double than B but age of C is one year less than B but two years
more than D. Who is the youngest in age among them ?

ay A (2) B (3) C 4y D

I Ag T B Fald F B 99 (P G BF B AR T O ad
mﬁ,mmﬁﬁgmaﬁ'mmgg%?

(1) @ 2) 3 (3) @ 4) <
Which animal among the following is different from the others ?

(1) Horse (2} Donkey - {3) Camel {4) Goat
e ¥ @ P AR R @ s g7

(1) drsy (2) Ty (3) = 4) s
(6)
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If A can complete any work in 7 hours and B can complete one-third of the
same work in 4 hours whereas C can complete half of that work in 3 hours and
D can complete double of that work in 8 hours, then who is the slowest in
completing the work ?

(1) A (2) B (3) C 4) D

RaRNemRN 7 RATWHTFN A IRIITFE & 73 TE 97 71 4
A @R X A B TG F IS A I B 3 WS H R ged1 & AR T 99 @
B YN TH BT S HE H IR FEA B, O I W I B B @ B F e
e w9y S I 8 ?

(1) @ @ ERCE: @) =

Nationa! Literacy Mission was established in :

e forewdt fes ot venuer g% off -

(1) 1988 & (2) 1998 % (3) 1999 # (4) 2000 3
Who is known as the 'Father of computer’ ? -

{1} B.Pascal {2) H. Hollerith

(3) Charles Babbage (4) J. V. Newmann

FEYTI T STH D AT ?

(1) o uRTS (2) THo BARY

(3) TreE ;& (4) So do A

NIVH is concerned with the :

(1) Special education (2) General Education

(3) Physical Education (4) Technical Education

TH 3R P T FT RN B

(1) feRre Rrer A (2) v Ren |

(3) TRF e | (4) go-rar e A

What is PPP in Education ?

(1) Public-Private Partnership (2) Private-Public Partnership
(3) People-Public Partnership (4) Participatory-Public Policy
Rend A wme?

(1) ufers-yrgde urERRm (2) wEdT-ufsA®m QAR

(3) dyg-ufsas qreRiRm™ (4) TiéRucd-ufears diferdl

(7) P.T.O.
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25. Inclusion in education is an approach to educating students with :

(1) normal educational needs (2) poor special educational needs

(3) rural educational needs (4) special educational needs

fonn & TuaIE 99 9on @ " o 1 @ surm 2 et

(1) g Hfde amvgeay # (2) e N sawumand &

(3) wrdior i sETEead ¥ (4) R ¥ smvaFg &
26. Principle of multimedia approach is basically related with :

(1) National Literacy Mission (2) Distance Education

{3) Education for All Scheme (4) Work Experience Scheme

I AW SaTE (Fe R o) @1 faema eew 3 SRR §

(1) s awan e | (2) et oy @

(3) waa fog Ren A | (4) T P D B

27. Inwhich year the first Open University was established in India ?
a3 wom o fwafieme o wmgar B e A gE ?
(1) 1983 (2) 1981 (3) 1980 (4) 1988

28. Vocational education combines productive labour with education and athletics
on the basis of the idea of whom ?

(1) Karl Marx (2) Lenin
{3) Mahatma Gandhi (4) Bertrand Russell

FEEYE Ffen & SR o9 B Run R JAvae 3 e A B e e
R R R 7 g ?

1) o T 2) afm
(3) =T e @) T &

29. Right to Education Bill is associated with which year?

s RFR ATl s T s auw v s 2 ?
(1) 2005 (2) 2004 {3) 2003 (4) 2001

30. In the concurrent list of the Indian Constitution, how many subjects are there
now ?

RS wRuE B v g F e § oy Rvg wisfom ¥ 2
(1) 47 {2) 57 {3) 37 4) 27

(8)
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32.

33.

34.

SECTION -B

reg -9

Which of the following is the basic unit of classification 7

(1) Phylum (2} Kingdom
(3) Genus (4) Species
Preforad & S Tfieeor &t qenm gorE & 7

(1) |9 (2) v

(3) sl (4) SRy
Ultimate source of energy in an ecosystem is :

(1) Sunlight (2) Glucose
(3) Fat (4) ATP
aRkfRefas a9 & st o7 sifes o & ¢

(1) ¥ s RS
(3) Twn (4) Qo Fto Glo

The movement of a substance against electrochemical gradient is :

(1) Phagocytosis {(2) Pinocytosis

(3) Active transport (4) Endosmosis
g e g 3 faad gewRt @ T 2

(1) HRET weor (2) e
(3) o= T (4) o= faR

Which phylum has the highest number of species ?

(1) Moilusca (2) Protozoa
(3) Arthropoda (4) Animalia
Rowr el % SR o e W) o # 7

(1) wreTem (2) WrErten
(3) reTarET (4) wfereTTa

(9)

P.T.O.
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35.

36.

37.

38.

Primary radial symmetry is found in :

(1) Hydra (2) Star Fish
(3) Snake (4) Insects
e Foragy vy ot oxd 2.

(1) =30 (2) 7 wwe
(3) wd 4) @

The connecting link between reptile and bird is :

(1) Bat (2) Ostrich
(3) Archaeopteryx | (4) Dodo
w7 el @ T A FH T

(1) wrmes (2) qggt
(3) anfyareRas (4) BrT

The origin of pancreas is :

(1) Ectodermal (2) Mesodermal

{3) Endodermal (4) Ecto-mesodermal
I B g A g A IRy

(1) sRrefd (2) ArsHA

B3 veErdT @) FF-AeHa
During embryonic development, RBCs are formed in :

(1) Bone Marrow (2) Liver

(3) Spleen (4) All of the above
YOITRI @ SR AT a0 DI B Iy BxiY 8 -

(1) FRemoen ¥ () Ipa i

(3) foreent & @) Iuga it A

(10)



39.

40.

41.

42,

12U/92/21(Set-1)

Book lungs are respiratory organs in :

(1) Insects (2) Arachnids

(3) Molluscans (4) Echinoderms

T BHS vae o § ¢

(1) P H 2) wiFsw A

(3) wrerent ¥ 4) TP q
Addission's disease is caused due to hyposecretion of :

(1) ACTH (2) Adrenalin

(3) Thyroxine (4) Cortin

vfea= A fFras sreored | gar R ?

1) TH & wm | ) g

(3) amadifea (4) +iEA

Gametocytes of Plasmodium are found in :

(1} Human liver (2) Blood of man

(3) Stomach of male Anopheles (4) Stomach of female Anopheles
wreAifead & MAckages 1 ot 8 ¢

(1) 98 ¥3q & (2) wra Jaq ®

(3) R TAfsfera @ U # (4) AT TR B U W
The male human is represented by sex chromosomes :

Ton ¥ fehmpor g3 @1 weida w=a @ ¢

(1) XX (2) XY (3 XO 4) XYy

The basic design of appendages in arthropoda is :

(1) Biramous (2) Uniramous  (3) Triramous (4) Absent
srifirer ¥ S BT qerg <fm B ¥

(1) "Ew (2) TN 3) FEv™ (@) srgafer

(11) P.T.O.
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44.

45.

46.

47.

48.

Metamorphosis in insects is influenced by :

(1) Ecdysone
(3) Haemolymph

(2) Amylase
{4) All of these

HTH § BT wAfaT g

(1) gFeEe (2) e

(3) €miferm @) T 9 Wi

Bipinnaria larva belongs to :

(1) Pila (2) Lemellidens (3) Star fish (4) Sepia
TR e wefa &

(1) drgen (2) e (3) aRI woel (4) Sfar
Main component of honey is :

(1) Glucose (2) Fructose (3) Lactose (4} Levulose
AEE B G TCF B

(1) oI (2) WS (3) wwErS (4) vgard
The egg of frog is :

(1) Isolecithal
(3) Alecithal

Toh B IS B TON 2

(1) srrgatiRire
(3) cfoiere

Coir is obtained from :
(1) Cocos nucifera

(3) Agave americana

TR Wl &gy oran 2

(1) v\ Tiww
(3) T 3MR&T

{2) Telolecithal
(4) Centrolecithal

{2) ety
(4) J= e

(&) Gossypium arboreum

(4) Crotolaria junceq

(2) TRffmy sretfRaw
@) wmeoRa s
(12)
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Anticancerous drug is obtained from :

(1) Ocimum sanctum : (2) Vinca rosea

(3) Terminalia arjuna (4) Rauwolfia serpentina
Do S yrer B @ -

(1) R Hed (2) famr Ay

(3) efRferr argw . (4) Jdifewa Fi=rEAT
Parachute mechanism of fruit dispersal is due to :

(1) Bracts (2). Corolla (3) Pappus (4) Thorns
IRTEe WiFaT & Bell B AHIvE [FEd g7 8w @ 7

(1) \89= (2) <@g (3) YwH @) =

In Moss the middle sterile part of capsule is called :

(1) Foot (2) Protonema (3} Columella (4) Seta
Ha ¥ dgd B g BT I BEelrr B

(1) Be (2) W (3) @Tege @) 4
Synthesis of DNA takes placé in:

(1) G, phase (2) G, phase

(3) Sphase (4) Both G, and G, phase
S 1 T & Fee fH rer § gar B 7

(1) G, Jygeer (2) G, 3geern

(3) S arawern | (4) G, W& G, < 3w §

Phytophthora infestans causes disease in :

(1) Potato (2) Groundnut (3) Wheat (4) Sugarcane
PECTHRIRT s7he~ fiet fand a1 ovar & ?
(1) @ (2) e 3 T (@) =1

(13) P.T.O.
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54.

35.

56.

97.

58.

Bicallateral vascular bundles are found in :

(1) Cucurbita (2) Dracaena (3) Nyctanthes  (4) Nerium
fooredw afdge famet freeh € 2

(1) gt (2) R (3) freom (4) A=
Source of CO, for photosynthes during day in CAM plants is :

(1) 3-PGA (2) Malic acid

(3) Pyruvate (4) Oxalo-acetic acid
yererETene 3 e @ wem @ v g i @ fag CO, ® wmE §

(1) 39 it g 2) ¥ferw st

(3) fwac 4) IRE-RRF I

Kreb cycle takes place in :

(1} Ribosomes (2) Mitochondria

(3) Chloroplast (4) Endoplasmic reticulum
wa = et dar 8 7

(1) YrEEr (2) =rsd@ifg

(3) FTRERT @) Terafs e
Polyembryony was first observed in :

(1) Citrus (2) Mango (3) Tomato 4) Apple
TR qER vEe e wWon @ ?

(1) g (2) s (3) TR (4) ¥

The pyramid of energy is always :

(1) Inveried {2) Upright (3) Horizontal (4) Oblique
Fot o1 faufe wda {59 9or o S 8 ?
(1) Seer (2) Wrm (3) & & wrR (4) fareT

(14)
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Tapetum is found in :

(1) Anther (2) Ovule

(3)- Male gamete (4) Microspore

<lirew et e 8 2

(1) RETH | @) e

(3) X gEEEHT (4) FYISI

Chlorophyle contains :

FANB 3 T qr vy @ ?

M N @) Ca (3) Na ) Mg

The gametophytic generation is dominant in :

(1) Bryophytes (2) Angiosperms

(3) Pteridophytes (4) Gymnosperms

eI 9 Reert et 2k 8 2

(1) FA®ETH (2) eforarenta

(3) <RewEH (4) Frada

Citrus canker is caused by :

(1) Algae (2) Fungi (3) Insects (4) Bacteria
figw P foud R Bar 8 7

(1) Fare (2) woE @) #r (4) Sirarg
During anaerobic respiration the end products are :

(1) Water and CO, (2) CO, and Ethyl alcohol

(3) CO, and Pyruvic acid (4) Oxygen and water
FANFN-ETET B o { I F 7

(1) 9@ @& CO, (2) CO, (& 3T sepiee

(3) CO, va fasfds s (4) TR vd ST

(15) P.T.O.
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64. Pteridophytaare:

(1) Non-vascular cryptogams (2) Vascular cryptogams
(3) Phanerogams {4) None of the above
REIpTgeT 81§ -

(1) W ea agwrgiiz (2) waET g e
(3) BRI (4) SRET § 9§ o8 w8

65. The principle of design which produces impression of unity through the
selection and arrangement of consistent objectives and ideas :

(1) Harmony {2) Proportion {(3) Balance (4) Rhythm
feomen @1 fhgr, O avgel 9 AR @ gAW EWT T @I I 9E= B €,
HEATN B °

(1) srgeuar ) sgma (3) g (4) 1
66. Any arrangement of line, form colour and texture is called :

(1) Shape (2) Design (3) Size (4) Art

X, T, TN ¥ AT A T T DI gaR] BEem) B

(1) smpfa (2) fewmgA (3) ATHR (4) T
67. Vertical lines express :

(1) Relaxation and repose (2) Forcefulness and rigidity

(3) Feeling of restlessness (4) Feeling of gaiety and delight

T AN e B E

(1) R @R fasm (2) TE9 AR gool

(3) SR w1 AT (4) TE~IT B I
68. A tradition handed down from the past is termed as :

(1) Goal (2) Standard . (3) Custom (4) Value

afler & e arel WwWRRT BEAR 8 ¢

(1) =a (2) AF® (3) g 4) 19

(186)
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Brass is an alloy of :

(1) Aluminium and nickel (2) Copper and zinc

(3) Copper and carbon (4) Aluminium and zinc
drae fAmfafaa & a0 fs ong @

W) Y v R (@ e e v

(3) T vE B (@) Yt od s

Birth defects or abnormalities are called :

(1) Congenital defects (2) Intranatal defects
(3) Labour defects (4) Physical defects
T ¥ IURT Y g1 SRTATRT BEAT B

(1) s=rome faer (2) waq 9 faer
(3) wa a1 @i e (4) TR® fGor

Breast milk should be given to the child from:

(1} Immediately after birth (2) 2days after birth

(3) A week after birth (4) 15 days after birth
g & 71 @& w3 IR FRA AR

(1) 9™ & g 919 2) 9 B 7 o 9ig
(3) 59 F V@ TAE A (4) W B 15 R w1

Cognitive developmental theory was introduced by :

(1) Hurlock (2) Piaget (3) Aristotle (4) Binet
Frffey Remm R seafag & 7 o

(1) &iid gRI (2) framr gy (3) IR BRI (4) frre gw

(17) P.T.O.
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73. ICDS operates through its:

{1) PHC (2) ANM

(3) KVK (4) Anganwadi centers
o & @ v fr=falen g1 Aefer gen 2

(1) 9. va. 9. (2) T 1. ¢,

(3) &. A & (4) AFTIETE B

74, Hereditary characters are transmitted through :

(1) Genes (2) Saliva (3) Pigments (4) Proteins

AR weror e grr 9T B & -

(1) = (2) R (3) frde @) W&
75. Wasted condition of body appearing in first year of life is :

(1) Kwashiorkar (2) Arnemia

(3) Jaundice (4) Marasmus

Sie @ wer ad F AN T FEend §

(1) AR (2) vt

(3) drferar (4) RIETH

76. Biological changes during adolescence leading to adulthood and sexual
maturity are termed as :

{1) Physical growth {2) Mental /growth

(3) Puberty {4) Childhood
Wﬁ@#mﬁﬁmw,vﬁmqﬁmmaﬁmém%m
(1) miRe g (2) "HE gfy

(3) waet (4) SreATawRIT

(18)
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78.

79.

80.

81.

12U/92/21(Set~)

Twins developed through division of a single zygote are :

(1) Heterozygotic twins (2) Monozygotic twins

(3) Unidentical twins (4) Dizygotic twins

TF Wge & v 9 RERT sgar o= oea §

(1) Eexmargmiies gsar (2) AFIETMRE Sear

(3) aFaTESfede Sl 4) TEEEFIRS TS

Hormone released by thyroid gland is

(1) Estrogen (2) Testosterone (3) Steriod (4) Thyroxine
dRREs 9t gRy wRa am’h 2

(1) A (2) TR (3) =TS (@) diafee=
Gomez classification of PEM in children is based on :

{1) Weight for height (2) Weight for age

(3) Height for age (4) Height for weight

@) § W 3, UE, & MRS Tiitev fesfaRea o smenfRg §

(1) o & foy IR 2) g ® fag uR

() ag & fog org (@) 9R & forg e

The end product of protein digestion is :

(1) Amino acid (2) Dipeptide (3) Polypeptide  (4) Ammonia
WS e T A IR §

(1) A= apsA (2) IS (3) deNTES (&) s=far

RDA for Indians have been given by :

(1) ICAR (2) ICMR

(3) NIN {(4) CFTRI
WA @ foy IR & g EfaRew gx weonfea fey e €

(1) g, @ T IR (2) og. W T IR,
(3) v aE. (A @) | W & IR g

(19) P.T.0.
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82.

83.

84.

85.

Famous embroidery of Uttar Pradesh is:

(1) Kantha (2) Chikankari (3} Phulkari {4} Kashmiri
SR Yev & ufig FhE 2
(1) @ (2) R (3) wABWY 4) TNy

A gas cannot be liquefied by applying pressure only if the temperature is above
of its:

(1) Absolute temperature (2) Critical temperature
(3) Inversion temperature (4) Reduced temperature

vs TN BT T daa g9 ERT T@ O@ T8l (Bur W 9edl T4 g6 SdDl agee
39 9= aroeE ¥ SR 2

(1} 9= agae (2) wia® araHE
(3) GopH I @) T areE
"Under similar conditions of temperature and pressure, the rates of diffusion of

different gases are inversely proportional to the square root of their densities.”
Itis:

(1) Charles' Law (2) Amonton's Law
(3) Dalton's Law {4) Graham's Law

TR TR 7 g9 R A B AR N omifde il 998 ol 3 e @
e grft €1 uw d

(1) art &7 fras (2) wEFE™ &7 frgm
(3) sRET w1 R (4) TEw B fAgw

If the values of principal and azimuthal quantum numbers are 4 and 3
respectively, then the sub-shell is designated by :

IR} g ok e @reH W& @ W FA 4 U9 3§ o Sueh @ 359
R frefra a=d &

(1) 4s (2) 4p (3) 4d (4) of
(20)



87.

88.

89.
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.'Which of the following electrdnic configuration for nitrogen (atomic no. = 7} is

based on Hund's rule ?

1 4 ] - geesie e TR (A BRE = 7) & Qe g @
e @ R R &

(1) 1s22s22p22p} 2p? (2) 1s?2s*2p}2pl2p}

3) 1s*25%2p}2p,2p; @ 1s*2s*2p32pl2p}

The hybridization of O-atom in H,O" ion is :
H,O* 3mad # O-URHE] H1 WHoT 8 ¢
(1) sp @ sp? 3 sp’ {4) sp’d

If the element lead is represented as 206pb, 207pb and 208pb, then these three
are lead :

(1) Isobars (2) Isotopes

(3} Isotherms (4) Isomers

‘% oS AT B 206pb, 207pb YT 208pb ® WU § qwiar wnan 2, A1 4 A A B
(1) TrRes (2) wRenfy®

(3) waamitg @) |

The change of pressure will effect the state of chemical equilibrium of the
following reaction :

e © 9Radq | IRge wrrawen W yWE e afitar o <@s @ e
(1) N,y(g)+0,(g)=22N0O(g)

(2) Hy(g)+1(g)=2HI(g)

(3) 250,(8)+0,(8)=2504(g)

(4) 3Fe(s)+4H,0(g) = Fe304(s) + 4H,(g)

(21) | P.7.0.
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90.

91.

92.

93.

94,

The existence of Intermolecular hydrogen bonding is not possible in :

(1) Ammonia (2) Water (3) Phenol (4) Diethyl ether
IRI-N[E EIERIO-9% BT JRTT Td Ty 981 B
(1) smfear (2) o= (3) w=I (4) sufde gax

Which of the following —N—-aqueous solution will have the highest osmotic
pressure ? 10

%—WWW%*T%%H&TWWWM?
(1) Al(504)3 (2) AKNO3); (3) NaNO; (4) CeHyO4

The temperature at which two partially miscible liquids become completely
miscible is called :

(1) Boyle's temperature (2) Critical solution temperature
(3) Critical temperature (4) Azeotropic mixture

7% T9 fore W I ¥ sl 3 goiaar fsmig 81 o €, ssenar ¢
(1) 3 T a™ (2) wiffas Qe amg

(3) wifxres &g (4) Reraareft Msm

An example of oil-in-water emulsion is :

(1) Codliveroil (2) Milk (3) Cold cream (4) Curd
o ¥ U BT gReHT B SEE ¢

(1) Fre-aPpd & 0d (2) T (3) MNawpm (4) T@
Gold number gives as indication of :

(1) Protective nature of colloids (2) Purity of gold

(3) Gold sol concentration (4) g-mol of gold per litre

ol wer gee <t @

(1) & FdFe ® WIe @) @t B gz

(3) W@V-Hier B A= (4) ¥y drex % 79 A |9y

(22)



95.

96.

97.

98.
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The value of Joule-Thomson coefficient for an ideal gas is:
(1) one (2) zero

(3) infinity (4) always positive
TF A A & Iy J@-ea IoNe BT AT BT @

1) (2) T

(3) = (4) wdgT gD

The process in which no heat enters or leaves the system but the temperature of
the system changes is known as :

(1) Isothermal (2) Isobaric (3) Isochoric (4) Adiabatic

T2 Td o 83 N T NRENRT TEl B/ S T a1 9 7 W9 HRT 8
IR 7 & e 8 2 =g o= & arame A aRada BT 8, S 9 9 2

(1) T9amd (2) TaEH (3) THARITN (4) 8™

For the reaction : CgHq,04(s)+ 60,(g) =6CO, (gY+6H,0(g), the relationship
between gp and gqu is :

L3l Cﬂﬂﬁﬂﬂ $ ‘&'TQ CGH'IZOS (BSFH)-F6OZ (W)=6COZ (ﬁ_ﬂ)'l"ﬁHzO (ﬂﬂ) qp 'QH qu
BT I T B

(1) gp=qv (2) gp>qo 3) gp <qv (4) gp +qu=0

The heat of neutralization will be minimurm in the neutralization process of :

(1) NH,OH with HCI (2) NaOH with CH;COOH
(3) NaOH with HNO, (4) NH,OH with CH,COOH
FardrieTr o ¥ seriiecer o= wafve gl e

(1) NH,OH @ | H(I (2) NaOH & §ry CH,COOH
(3) NaOH & W HNO; (4) NH,OH & |~ CH;COOH

(23) P.T.O.
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100.

For the change NHCl(s) —» NH,CI(g) :

(1} Both AH and AS are positive (2) Both AH and AS are negative

(3) AH is negative and AS is positive  (4) AH is positive and A5 is negative
39 qftada § NH,C! (B/9)— NH,C! (9)

(1) aH 3 AS eFi g% & (2) AH 3R AS TFI HTHE B

(3) AH RS 3R AS FAIHS B (4) AH g6 AR AS FONES 2

Which of the following is a reaction of first order ?

Rt 3 @ B ot e B @ 8 2
(1) 2H,0, > 2H,0+0y;r = k[H,0,]

(2) 2HI > H, +15;r =k[HIP

(3) 2NO; — 2NO+0;;r =kNO, P

(4) 2NO+0O, — 2NO,;r =k[NOI[O, ]

(24)



swaffat @ fog fAdy

(59 YRad & TP AER-YS W T ST S I DI R B Aell/ Bref] For-arge o7 ¥ & ford)

1.

ve gRaET e 3 10 B9 @ o) & 2w o & uvas F ot g ArgE § ik w8
e geT 98 21 IR g U O W39 gE aoad o8 FReE Qe
Jrel geeE B g GRS uT @R |

2. e waT A forwrer e mawud @ faRed, fGan @ W @ W gen s

3.

10.

11.

12.
13.
14.

wA AT AL
TR I @ fwr owrwm ;) 3@ T @ 99 o 7 & Apg ¥ guw ey TE@
Ry w1 $aer Sov-uH &7 & Goaraw fear Wi

. 3T HPHAIG TYT STRGF BT HAIG FYW EROLTS W 99 MuiRe wm

o ford |

. TURYT B FT IS W U W ST s R v w7 ford aer 9 39 gl

B a7 B ) wEl-9E F9vgs & g7 HeR-gRadr @7 HHE our v &7 AV
Sfara ¥ ov frd

. 3o Wo HRo Y W IFHHIG W], WA-gRasT T g de = (@i $18 8) dun

TE-IRGET W FES W@ AR allo THo aMRo T wEAr & gfifedt § suRawa &t
A TR B

. Sugaa wfafed) o w8 f) oReds o8 as g onfa &9 =ity =R 498 18

SERRT BRI &1 WART AT S |

.W-gﬁaaﬂﬁmmiﬁwawﬁﬂmwﬁﬁ@%‘fmmaéémmﬁ

ford st wed BT WA 9T @ WA QY T8 g9 @ SIeTd & HYH §8 )
2w e & argare 97 ¥ Wer s 8

LAAE T B IR S O a9 ve R g9 @) Wl | Ue A S gl ® el w1

U HAT UP Gel B AUl AR WX A€ GTR ITAT HA SR |

21T 7 & v av &F g7 fed gav gqon A8 or wear 2/ R ama & oy
B TR T g7 wed & o waiw dfkg @ W Y @ i g9t @ @reh v €
Y weel o} ¥ A 5y oy

o & R 3w g % guTs & IR aen g @ Aftm @l g @
T TR |

qeT B UG FFA 3o THo o TIEUF & U HIT H N wN |

el A B ¥ s qde e W 18 S @ AT A8 8l |

7R oid et en N e WA &7 A ek B Y a8 Rvafaem gr feiRa
g3 B/ At B /et
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